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270|HO FAF =1 |EETIEER - 13.333 12.066 12.300 13.233 50.932

271);I0 & =2 8RR - 11.433 13.200 10.233 12.333 47.199

212|%F 2 =2 |EIGERR - 12.366 12.433 12.566 12.366 49.731

1 273|&F Wy #4 =1 |ETIEER - 11.833 9.566 11.700 11.566 44.665

274|ZH & =3 |EEIEER - 11.600 11.833 12.033 9.966 45.432

275|824 itk = 3 IR R 7 - 12.033 9.833 10.233 10.466 42.565

F—LFR(LAI545) 61.165 59.365 58.832 59.964| 239.326

276|1kik = =3 |hAIEREES 57 13.000 11.566 11.933 12.433 48.932

277|AH FEx =3 |ShARIEREES 77 12.166 11.333 10.633 11.766 45.898

278|FF E =2 BhEiEREES 77 12.233 10.733 10.700 10.100 43.766

2 | 219 \EHKE S =1 |SARIEREES 77 12.866 11.933 11.466 10.533 46.798

280(FTF 1::15 =1 |ShARIEREES 57 0.000 0.000 8.000 0.000 8.000

281|fIER S & H =1 |ShRIEREES 77 11.700 7.766 10.800 11.733 41.999

F—LFR(LEAI545) 61.965 53.331 55.532 56.565 227.393

282|t#E rr B3 [FRVLFRTFA4vI957 11.233 11.966 12.466 11.366 47.031

283|EX EH 22 [dRSLFRTF4v9957 12.100 12.066 12.000 11.133 47.299

284 |ith)H $EERIE B2 |FRCLFRTF4vII57 12.900 11.166 11.766 12.166 47.998

3 | 285|iEE 15 h3 |dRSLFRTF4vI957 13.000 12.333 12.100 13.166 50.599

286 |i%F ;WX 3 [FRILFRF4v2957 12.300 11.500 11.666 11.000 46.466

287|K%F #¥F Rl |dRSLFRTFAvI957 11.766 7.800 10.800 11.800 42.166

F—LER(LEAI545) 62.066 59.031 59.998 59.631| 240.726

288|112 £ & = 3 |STAYCOOLRF—vV & 57 *rv

289 |#K E5RTY = 2 |STAYCOOLRF—v o 57 12.600 10.100 12.066 11.200 45.966

4 | 290|£FT EZE = 2 |STAYCOOLRF—vY & 57 12.000 11.733 10.600 10.433 44.766

291 | H HER = 2 [STAYCOOLR #—v o 57 11.966 9.100 6.866 6.666 34.598

292|111 £ EF =3 |NEEERs 77 12.600 11.266 12.133 11.733 47.732
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